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Question Number : 1 Question Id : 25498942167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Web page editors works on a principle.

Options :

1. * WWW

2. % HTML

3. ¥ WYSIWYG

4. % WYGWYSI



Question Number : 1 Question Id : 25498942167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

39 O ufged RIgid R &9 ST g
Options :

1. % WWW

2. % HTML

3. ¥ WYSIWYG

4. % WYGWYSI

Question Number : 2 Question Id : 25498942168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The container that houses most of the electronic components that make up a computer system is known as:

Options :

1. ¥ System unit

2. % Control unit

3. % Primary storage unit

4. # Arithmetic Logic unit

Question Number : 2 Question Id : 25498942168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS HeR g Sl e Red §9M a1a e gaae e ged! &l Tadl g

~

Options :

1. ¢ Rieq gfe

2. % Bt gie

3. % IR ERe gHe

4. % TRYATCH difoTe e

Question Number : 3 Question Id : 25498942169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is valid?

Options :



1. % 1 KB = 1000 bytes
2. ¥ 1 KB = 1024 bytes
3. % 1 MB = 1000 kilobytes
4. % 1 MB = 1024 bytes

Question Number : 3 Question Id : 25498942169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FEd YR I U § 2
Options :

1. % | KB=1000 S18cd

2. ¥ 1 KB = 1024 §15¢H

3. % | MB = 1000 fPaeRcy
4. % 1 MB = 1024 915¢H

Question Number : 4 Question Id : 25498942170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following years MSN was launched?

Options :

1. % 1980

2. % 1990

3. % 1991

4. ¥ 1995

Question Number : 4 Question Id : 25498942170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MSN &1 URY foog 9y # foar ar U
Options :
1. % 1980
2. % 1990
3. % 1991
4. ¥ 1995



Question Number : 5 Question Id : 25498942171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Windows snipping tool, option starts a new capture using current capture mode.

Options :

1. ¥ new

2. # alter

3. % refresh

4. % scan

Question Number : 5 Question Id : 25498942171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

faee Rt gl ®,  fdehed IHIM PR HIS BT SIAHTS BRd U T T BER Bl R Bl 6|
Options :

LYY

2. % TR

3. % by
4, % IH

Question Number : 6 Question Id : 25498942172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
consists of self-learning tools and courses.
Options :
1. # Wiki tools
2. % Wiktionary
3. ¥ Wikiversity

4. % Wiki news

Question Number : 6 Question Id : 25498942172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T Tad: T & 1= 3R UTGIHH 8ld 6|



Options :

1. * fafe g
2. % foar_l

3. ¢ fafdafiel
4. % fafds o

Question Number : 7 Question Id : 25498942173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Microsoft Access database?

Options :

1. # ms.db

2. % acc.db

3.4 mdb

4. % msdb

Question Number : 7 Question Id : 25498942173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Microsoft Access SCTOH DI Aol & folT DI U WISd BIHc BT SUINT T ST 52

Options :

1. # ms.db

2. % acc.db

3.4 mdb

4. % msdb

Question Number : 8 Question Id : 25498942174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Insert citation option is available in which tab of MS Word 2016?

Options :

1. ¥ TABLE

2. ¥ FORMAT

3. ¥ REFERENCES



4. % INSERT

Question Number : 8 Question Id : 25498942174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3IC TSR fddhed MS Word 2016 & fordl ¢ § IUTAS 52

Options :

1. % TABLE

2. % FORMAT

3. ¥ REFERENCES

4. % INSERT

Question Number : 9 Question Id : 25498942175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the key/key combination to copy a picture of the screen to the Clipboard in MS PowerPoint?

Options :

1. ¥ SHIFT+PRINT SCREEN

2. % PRINT SCREEN

3. % ALT+PRINT SCREEN

4, ¥ CTRL+PRINT SCREEN

Question Number : 9 Question Id : 25498942175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS PowerPoint ¥ fFUES TR WhIH &1 dIR B YA S o AT grotl/grot Tare o 82
Options :

1. % SHIFT+PRINT SCREEN

2. ¥ PRINT SCREEN

3. % ALT+PRINT SCREEN

4. % CTRLAPRINT SCREEN

Question Number : 10 Question Id : 25498942176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is a problem oriented language?
Options :

1. ® Assembly level language

2. % Low level language

3. % High level language

4. ® Machine level language

Question Number : 10 Question Id : 25498942176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 7 ¥ HH gHRn 379 (e 3iREes) U g2
Options :

1. % 3ATcH ¥R BT U

2. % g TR BT YW

3. ¢ I TRIY U

4, % T TR BT YT

Question Number : 11 Question Id : 25498942177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which bus controls the sequencing of read/write operation?

Options :

1. ¥ Control bus

2. ® Data Bus

3. # Virtual bus

4. ® Address bus

Question Number : 11 Question Id : 25498942177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

DI 1 99 Ug-/feran & ufehan & Sl &1 fafd sar g2
Options :

1. ¢ fFgau ag

2. % g1



3. % gY3[d 99

4. % TSY I

Question Number : 12 Question Id : 25498942178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A icon means that all the files in Drop Box /tray menu bar are up to date.

Options :

1. # red

2. ¥ green

3. % blue

4. ¥ white

Question Number : 12 Question Id : 25498942178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

GﬂgﬁmHﬁ%%DropBox/trayﬂﬂaﬂﬁﬂmmmgl
Options :
1. ® dld
2.V
3. % Hid
4. % ghqg

Question Number : 13 Question Id : 25498942179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is most used rule for backup?

Options :

1. ¥ 4-2-1 Rule

2. % 3-2-1 Rule

3. % 4-3-2 Rule

4. % 4-3-1 Rule

Question Number : 13 Question Id : 25498942179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

&3 & o g & @ o A1 Fom 9a S$ifie ST fasan ST 62
Options :

1. % 4.2-1 g

2. 3-2-1 4T\

3. % 432 4T

4. % 4.3-1 fam

Question Number : 14 Question Id : 25498942180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the first step of measurement?

Options :

1. ¥ Decision of what to measure.

2. # Identifying and collecting data of what to measure.

3. % Analysing the data.

4. ®# Summarising and analysing the data.

Question Number : 14 Question Id : 25498942180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fRofefad & O AU &1 g TR 1 82
Options :

1. ¢ gg [ufg &1 i | A 2|

2. % 5 |AIUT § SUF ST B Uga 3R JUgUl|
3. % Sl & fazayun|

4. % ST 6T JATUT 3R faerwor|

Question Number : 15 Question Id : 25498942181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of chart is appropriate when you have categories which represent specific scale arrangements such as strongly agree, agree, neutral,
disagree and strongly disagree in MS Excel.

Options :




1. %® area
2. % gsurface
3. % line

4. ¥ clustered column

Question Number : 15 Question Id : 25498942181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Excel # fafRry afvwror &t IRITY @@, strongly agree (E'\Iﬁ?ﬁ Q";ﬂ), agree (Q"}ﬂ), neutral (<g¢cl), disagree (ﬁ%ﬂ'@;ﬂ), strongly disagree
(el feamh), &1 ufaffa @A ar o IufRd gH W I1E 1 TN IUYE B |

Options :

1. % area (TR

2. % surface (THY)

3. # line (<3 )

4. ¥ clustered column (FAES HIAH)

Question Number : 16 Question Id : 25498942182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under which of the following conditions scatter chart is NOT recommended?

Options :

1. ® You want to make that axis a logarithmic scale.

2. ¥ You want to divide data into slices to illustrate numerical proportion.

3. # Values for horizontal axis are not evenly spaced.

4. ® There are many data points on the horizontal axis.

Question Number : 16 Question Id : 25498942182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fraforfed # I Ul o Whex a1é &1 TaT IKd A8t faa ST qhdT?
Options :

1. % 30 I HERGT B ANTRITS TRHATO & F91 9184 & |

2. GRHATHS 3IATd G & fAIY 3170 STeT i ghal | die-T a8 & |

3. % &faS (@ReiTed) 31eRaT & Yol B! A g3t TR el @1 T 5|




4. % &faS @RSI<a) sferar § s scl fag gid g

Question Number : 17 Question Id : 25498942183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the below program is similar to an antivirus program?

Options :

1. % Anti-firewall

2. ¥ Anti-spyware

3. # Anti-threads

4. ¥ Anti-programs

Question Number : 17 Question Id : 25498942183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

faferiad & ¥ Far Umm THarRy U ST 8idT 82
Options :

1. % UA-BrRAd

2. ¢ WE-WHamR

3. % Uddey

4. % Tummm

Question Number : 18 Question Id : 25498942184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In booting process after POST, the settings are stored in:

Options :

1. ¥ ROM

2. % RAM

3. ¥ CMOS

4. # Hard disk

Question Number : 18 Question Id : 25498942184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e ufbar #, poST & 91 Bt A 39 H TR Bl &
Options :

1. ¥ ROM

2. ¥ RAM

3. % CMOS

4. # Hard disk

Question Number : 19 Question Id : 25498942185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which topology is used in Bank ATM?

Options :

1. ¥ Star Topology

2. % Ring Topology

3. % Hybrid Topology

4. ¥ Mesh Topology

Question Number : 19 Question Id : 25498942185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

d& ATM T ford TIaTarStt ST SUTNT [T ST 82
Options :

1. ¢ R cIYTersil

2. % Ty SIgversi

3. % grsfers crdrsil

4. % Oy CIOrdlSlt

Question Number : 20 Question Id : 25498942186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term HP UPD stands for:

Options :

1. ¥ HP Unique Pink Driver

2. % HP Universal Print Driver



3. ¥ HP Universal Pointer Driver
4. ¥ HP Universal Plotter Driver

Question Number : 20 Question Id : 25498942186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[eq HP UPD 1 YUl WY &7 82

Options :

1. ® T g+ fUd SIEaR (HP Unique Pink Driver)

2. ¢ TIUl qﬁaﬁa fie 3@? (HP Universal Print Driver)

3. % Q?ﬂ:ﬁ qﬁaﬁﬁ UU'IEET _Q"I_EEHT (HP Universal Pointer Driver)
4, % T9Ul tﬂ%laﬁﬂ Wex SI5aR (HP Universal Plotter Driver)

Question Number : 21 Question Id : 25498942190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
change case option makes all selected texts into small letters in a Word document.
Options :
1. ¥ Lower
2. % Upper
3. % Sentence
4. ® Toggle

Question Number : 21 Question Id : 25498942190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A P9 fdwd TH 78 gxae A 9t 9afd e (CRe) ®I BiC 3eRi W FIdT 8 |
Options :

1. ¢ TSR

2. % 3UR

3. % 9

4, % TNTA




Question Number : 22 Question Id : 25498942191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By default, MS Word uses  as its unit of measurement in dialog boxes and on the ruler.

Options :

1. # decimeter

2. % inches

3. # decameter

4. % kilometer

Question Number : 22 Question Id : 25498942191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fSWhiee =0 T, MS Word ST ST H IR TR WA P YN SHFR FFTUH  HI ST HRAT 8
Options :

1. % S’

2.¥ 59

3. % SHMHIR

4. % fHaHieR

Question Number : 23 Question Id : 25498942192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid alignment option in MS Word?

Options :

1. # Right

2. % Justify

3. ¥ Corner

4. % Center

Question Number : 23 Question Id : 25498942192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H FUfIRad # T 19 1, T 9y TGN (3AgT0<) fdhe T8l 82

Options :




1. % ST (Right)

2. % IREBTE (Justify)
3. BIR (Corner)

4. % HeX (Center)

Question Number : 24 Question Id : 25498942193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

We can use to make (or fence in) other formatting changes on the same or different pages in our document.

Options :

1. ¥ section break

2. # line break

3. % paragraph break

4. ® page break

Question Number : 24 Question Id : 25498942193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

B U SIFgHT H THM AT e US R 3= BIH T URad- ®3- o fole (@1 IR} 3R ¥ oA & fo) BT IYANT HR Thd g |
Options :

1. ¢ YR dFh

2. % ARASD

3. % TRE% S

4. % TSI 9

Question Number : 25 Question Id : 25498942194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If you want some changes in your document, then what will you choose among the following?

Options :

1. #® You cannot change once you are done with your writing

2. % Grammar & spelling

3. % Find & Replace

4. ®% Header & footer



Question Number : 25 Question Id : 25498942194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g 3y 3+ STagic H $3 URad- a1gd & ad 319 Fufafad & 3 @ gaae
Options :

1. % U IR 919 3T 30 fera= &1 S R HR Ad & ol AT IRac g1 bR Tabvd &
2. % TR 3R Wi

3. v Blee Us Rwiy

4. % gREE PR

Question Number : 26 Question Id : 25498942195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dot-matrix and band printers are types of:

Options :

1. ¥ impact printer

2. % ink jet printer

3. # laser printer

4. % thermal printer

Question Number : 26 Question Id : 25498942195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gl Afeay 3R o8 fifer & UPR g
Options :

1. ¢ gigc iR

2. % Sepoic [Uex

3. % goR fliex

4. % yAq fiiex

Question Number : 27 Question Id : 25498942196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In most of the laptops, the webcam is
Options :

1. * unattached

2. ¥ pre-installed

3. * uninstalled

4. % unused

Question Number : 27 Question Id : 25498942196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3BT AUy &, JsbH g gl
Options :

1. % 3G

2. ¢ J4-R1Ud

3. % I e

4. % ST

Question Number : 28 Question Id : 25498942197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sound is one kind of wave.

Options :

1. # transverse

2. % longitudinal

3. % surface

4. ¥ mechanical

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 28 Question Id : 25498942197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g Ueh YR Pl TR
Options :



1. * AU

2. ¢ e

3. % Ydg

4. ¥ GifAd

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 29 Question Id : 25498942198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Word, you can enable or disable various options for automatically correcting capitalization on the

Options :

1. ¥ AutoCorrect tab

2. % Comments tab

3. % Capitalization tab

4. % Customize tab

Question Number : 29 Question Id : 25498942198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H, 30 29 & WIferd ©U A SR &l Jg! B3 & ot fafis fameul o Jarm a1 31 &R Jhd o
Options :

1. ¢ 3ficl Hde

2. % By

3. % PHfUcageH

4. % HILHAZS

Question Number : 30 Question Id : 25498942199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a part of the Editing command group in MS Word 2016?

Options :

1. ¥ Change case

2. % Find



3. % Replace
4. # Select

Question Number : 30 Question Id : 25498942199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H fafafad & § ®H ufefén wnis qu o1 fewr =8t 82
Options :

1. ¢ ool b

2. % IgS

3. % Jwy

4. % Tdlae

Question Number : 31 Question Id : 25498942200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which shortcut is used to center text in MS Word?

Options :

1. # CtrtM

2. % Ctrl+]

3. % Ctrl+C

4. ¥ Ctrl+E

Question Number : 31 Question Id : 25498942200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H, ®I-T Tche SRS BT e B b 7T ITANT fodn ST 32

Options :

1. # Ctrl+M

2. % Ctrl+]

3. % Ctrl+C

4. ¥ Ctl+E

Question Number : 32 Question Id : 25498942204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In digital image compression, which data redundancies are used?

Options :

1. ¥ coding redundancy, interpixel redundancy and psychovisual redundancy
2. #® decoding redundancy, interpixel redundancy and psychovisual redundancy
3. # coding redundancy, intrapixel redundancy and psychovisual redundancy

4. ® coding redundancy, interpixel redundancy and visual redundancy

Question Number : 32 Question Id : 25498942204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fSfiorea ofa Il & o1 4t Ser 3ifaverdr o1 ST fasar ST g2
Options :

1. ¢ DS RSuSH, TrfUea RSvSHl, iR TEdifassrd Reva
2. % fEpIfET Reuadl, Sexftana RevsH, 3R AE@ifagsrd Revsdt
3. % HIfST v, Sorftaaa RevsH, SR ArEaifagsrd Revsdt
4. % HIFST RIS, Fexfiaaa RevSH, SR fagsra Revswt

Question Number : 33 Question Id : 25498942205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Unix/Linux based systems include the capability to write messages to log files via:

Options :

1. ® error log

2. % event log

3. # address log

4. ¥ syslog

Question Number : 33 Question Id : 25498942205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Unix/Linux 3TeTRd Req & Brgdl &) al Bised § 38 foran 31 & & GRIBI g

Options :
1. % TR AN (error log)




2. % 3de ANT (event log)
3. ® Q%ﬂ?lﬁ[(address log)
4. ¢ Tqganm (syslog)

Question Number : 34 Question Id : 25498942206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

__key cryptography algorithms are also called as symmetric encryption.

Options :

1. ¥ Secret

2. % Personal

3. # Shared

4. ® Universal

Question Number : 34 Question Id : 25498942206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

_ Ppoft fopviumw! wenfiyy o gafta ufrwe o wer et 31

Options :

1. ¥ T (¥ishe)

2. % Jufads (qda)

3. % ggHTo (ATS)

4. % gl GHada)

Question Number : 35 Question Id : 25498942207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The two internet protocol versions currently in use are:

Options :

1. # IPV3 and IPV4

2. % [PV2 and IPV6

3. % IPV2 and IPV4

4. ¥ IPV4 and IPV6



Question Number : 35 Question Id : 25498942207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IIAH A ITGIT fPT T aTd &) Sec Uieibia T&hRul T 82
Options :

1. % 1PV3 3R IPV4

2. % [PV2 3R IPV6

3. % [pPV2 3R [PV4

4. ¥ IPV4 3R IPV6

Question Number : 36 Question Id : 25498942213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How do you measure the speed of dot matrix printer?

Options :

1. # Pages per minute

2. ¥ Characters per second

3. * Lines per minute

4. % Paragraphs per minute

Question Number : 36 Question Id : 25498942213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ffeay filex @ 71fd forad Ardt St 82
Options :

1. % g8 yfd fie

2. ¢ 3ER Ufd Ahg

3. % dfgq ufd e

4. % IR fa fiee

Question Number : 37 Question Id : 25498942214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is the key combination to open Font dialogue box in MS Word?



Options :

1. # Ctrl+F

2. ¥ Ctrl+D

3. % Alt+F

4. ® Alt+Ctrl+F

Question Number : 37 Question Id : 25498942214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H Font ((1-C) STIGHT S Wia & foTg groll TaIoH 1 82
Options :

1. % Ctrl+F

2.9 Ctrl4+D

3. ®¥ Alt+F

4. ®# Alt+Ctrl+F

Question Number : 38 Question Id : 25498942215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which enables us to send the same letter to different persons?

Options :

1. ¥ Mail merge

2. # Template

3. % Macros

4, % Edit

Question Number : 38 Question Id : 25498942215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

H U Bt UF Bl SST-3eT A fGedl bl ol § JeH ST g |
Options :
1.« B Aol
2. % W
3. % Al



4. ® Ufge

Question Number : 39 Question Id : 25498942218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Every file name has (a/an)

Options :

1. ¥ extension

2. ® picture

3. # document

4. % sound

Question Number : 39 Question Id : 25498942218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ud® BIgd A9 | ST gl
Options :

1. ¥ W(Extension)
2. % ﬁl_?[(Picture)

3. % W?(Document)
4. % &g (Sound)

Question Number : 40 Question Id : 25498942225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many number of cartridges does a low-end Inkjet colour printer have?

Options :

1. # Five

2. # Three

3. % Two

4. % Four

Question Number : 40 Question Id : 25498942225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



@-TT (low-end) TPHoic HeR Hex H fba Fwifcol gid g2
Options :

1. % g9

2. %

3.4 3

4. % IR

Question Number : 41 Question Id : 25498942226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

PivotTable is useful for quickly creating unweighted :

Options :

1. ¥ Cross tabulations

2. # Charts

3. % Images

4. # Logs

Question Number : 41 Question Id : 25498942226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fge arferet afa 0 3 aeiH AR T H Iuarh g1
Options :

1. ¢ I IR (CFaIRH)

2. % 9c

3. % Bfagl (3Ho9)

4. % AY

Question Number : 42 Question Id : 25498942227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Recovering the file back from compression method is known as

Options :

1. # uninstalling

2. ¥ decompression



3. ¥ enhancement

4. % contrast

Question Number : 42 Question Id : 25498942227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt (HHIRE) fafY I Bed & a9y gavie &=l & ¥ Y H SH ST
Options :

1. % TSI

2. ¢ SIHHTH

3. % TggHC

4. % BICRC

Question Number : 43 Question Id : 25498942228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What do you understand by Renaming a file?

Options :

1. # Inserting a File

2. # Giving New Name to New File

3. # Deleting a File

4. ¥ Giving New Name to Old File

Question Number : 43 Question Id : 25498942228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT 31 BTsd T 30 o JHId 82
Options :

1. % 3 &l YAy &l

2. % % BIgd B 941 19 S

3. % HIRd P fSdle HIAT

4. waaﬁwmﬁ



Question Number : 44 Question Id : 25498942230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following memories is most volatile?

Options :

1. ¥ SRAM

2. ¥ DRAM

3. ¥ CMOS RAM

4. % EEPROM

Question Number : 44 Question Id : 25498942230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fafafed & 3 oF 9@ A0 999 31 daresd (aRadRId) gl 8?2

Options :

1. # SRAM

2. ¥ DRAM

3. ¥ CMOS RAM

4. % EEPROM

Question Number : 45 Question Id : 25498942232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the numerical aperture (NA) of Blu-ray Disc?

Options :

1. % 0.40

2. % 0.65

3.9 0.85

4. % 0.74

Question Number : 45 Question Id : 25498942232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1 few & gaRed 3=k (TH.0) fhd giar g2

Options :




1. * 0.40
2. % 0.65
3.4 0.85
4. % 0.74

Question Number : 46 Question Id : 25498942233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
and are two different types of interfaces of Smart Cards.

Options :

1. * Used, unused

2. % Simple, complex
3. # Data, type

4. % Contact, contactless

Question Number : 46 Question Id : 25498942233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R T PTS & I SCAT-3HN UPR &b Sexbh I g |

Options :

1. % Ugad, (UG
2. % IR, dfed

3. % g2l UPR
4.« Hud, Gueh M

Question Number : 47 Question Id : 25498942234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Fill in the blank with correct option:

Resistive touch screen contains two layers with running through them.
Options :
1. # capacitance

2. % electrical current



3. % electric charge

4. ® parallel current

Question Number : 47 Question Id : 25498942234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

et fased gRT Rad wiH & gfd &t
Iied e Wi § &) URd gl & foH UqIfed gl Yal gl g

Options :

1. % e (PuTiRydy)

2. ¢ 1a3gd URT (Faifdgd Hie)

3. % faqyd smaw gafaees =)

4. % JHIR faggd uRT (R Hie)

Question Number : 48 Question Id : 25498942235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A nibble can be conveniently represented by one digit.

Options :

1. ¥ hexadecimal

2. % decimal

3. # binary

4. ® octal

Question Number : 48 Question Id : 25498942235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

% F9d U fSfore gRT glausHe & 3 gimar o Idhd g
Options :

1. ¥ RIS RIEd

2. % SR

3. % g

4. % 3iged



Question Number : 49 Question Id : 25498942236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTP stands for:

Options :

1. ¥ File Transfer Protocol

2. # Field Transfer Protocol

3. # File Transformation Protocol

4. % File Transfer Procedure

Question Number : 49 Question Id : 25498942236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTP &1 JURET &1 €2
Options :

1. ¥ BI3d CIHR Wctald

2. % Wics CNBR Ulcidld

3. % IS CIABIHRE Uicidbid
4. % HI3A IR URITOR

Question Number : 50 Question Id : 25498942237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Graphics card is computer:

Options :

1. ¥ hardware

2. # software

3. # database

4, * server

Question Number : 50 Question Id : 25498942237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

UMb BTS Uh HILR g gl




Options :

1. ¢ BISaWR
2. % GUCaR
3. % STrey
4. % IR

Question Number : 51 Question Id : 25498942238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a sound card connection, which colour is used for sound in or line in?

Options :

1. ¥ Blue

2. # Yellow

3. % White

4. #® Pink

Question Number : 51 Question Id : 25498942238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pl AT S BTS HawH |, YIS 371 T A5 31 & foIT fovd 37 1 SUANT foham &7 82
Options :

1. ¢ e

2. % diar

3. % g

4. % TS

Question Number : 52 Question Id : 25498942239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In video the client is able to watch the video while it's being downloaded.

Options :

1. ¥ streaming

2. % scaling

3. ® gathering



4. * downloading

Question Number : 52 Question Id : 25498942239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

difear A, SI3dIS Bl XET difSdl Frge gRI &/ off ¥ehdl g |
Options :

1. ¢ WIfHT

2. % THICHT

3. % TghT

4. % R3S

READING COMPREHENSION

Section Id : 2549894636
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894677
Question Shuffling Allowed : Yes

Question Id : 25498942219 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

Rosalind Franklin
(1920 —1958)

Rosalind Franklin was a winner from an early age, doing extremely well in both academics and sports. After graduating from Cambridge



University at the age of 21, she accepted a research position at the British Coal Utilisation Research Association (BCURA) in 1942 and earned a
Ph.D in 1945. Two years later, she moved to Paris and became an expert X-ray crystallographer. {Crystallography is an area of science which
studies the atomic and molecular structure of a crystal. The atoms cause a beam of X-ray to break up in different directions.}

Such achievements were remarkable for a woman in the first half of the 20t century, but Franklin did not stop there. Her research on coal, the
polio and tobacco mosaic viruses, and graphite were considered significant. Her single greatest triumph, however, was her work on the structure
of DNA. For this, she would be appreciated only after death.

While Franklin’s gender did not obstruct her talent, it certainly prejudiced others from valuing her worth as a scientist. When she began working
at King’s College, London, in 1951, Maurice Wilkins, her colleague, would not accept her as an equal. Without taking her permission, Wilkins,
shared the images of DNA developed by Franklin with another male scientist, James Watson. These images played a key role in the discovery of
the DNA double helix. Watson and Francis Crick published the findings about the DNA structure and referred to Franklin’s work only as a
supporting article.

In 1962, four years after Franklin’s death from cancer, Watson, Wilkins and Crick together won the Nobel Prize in Medicine for the double-helix
model of DNA. But this time both Watson and Crick acknowledged their debt to Franklin. In recent decades, several awards have been given to
Rosalind Franklin for her trail-blazing work.

Sub questions

Question Number : 53 Question Id : 25498942220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For which area of her work should Rosalind Franklin be recognised most?

Options :

1. ¥ Structure of DNA

2. # Polio and tobacco mosaic viruses

3. % Coal

4. # Graphite

Question Number : 54 Question Id : 25498942221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why does the writer think she was NOT given her due?

Options :

1. % She was not allowed to publish her research.

2. % She did not get the Nobel prize.

3. % She died before she could complete her work.



4. ¥ Her colleague did not consider her his equal.

Question Number : 55 Question Id : 25498942222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which year was Franklin’s work finally recognised?

Options :

1. % 1945

2. ¥ 1962

3. % 1958

4. % 1942

Question Number : 56 Question Id : 25498942223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which discovery resulted from Franklin’s research on DNA?

Options :

1. ® crystallographic images

2. ® X-ray diffraction images

3. ¥ double helix structure of DNA

4. ® X-ray Crystallography

Question Number : 57 Question Id : 25498942224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What evidence do we have that Rosalind was a remarkable woman?

Options :

1. # She completed her Ph.D at the age of 25.

2. # She got a research position in BCURA.

3. # She became an expert crystallographer early in life.

4. ¥ She conducted research despite male prejudices in the early 20th century and earned a Ph.D degree.

Question Id : 25498942219 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)



N NINER NG
(1920 —1958)

JISfers Thafer W g Bt fauian o, frgia fRiaf 3fR Wd G H 81 TaR UG fBar| 21 I8 3 oy H B gHaRict ¥ |rde gi-
& 918, I 1942 T fafewr wia gfearsozq e TaiRee= (@ Rigemu) & R @1 ug WeR fear 3R 1945 T Ph.D & IUTF Ui

D1 G I 9T, 98 IR Il 78 3R T fIRvg T fheediummR 99 15 | (fheeannw! fagm o1 ue &7 § o siafd freed ot

TRHTY] 37R A0 TR &1 31eqg- fopam oIt € | IR fafid fezmasii # Ty s a ged g1
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efere &t Wiet § 37 fodll &1 U Agayul YiHeT ot | areyq iR Wik fohes A ST WRam1 & aR § s yailRid fou ok e &
BT P Had TS O &b =Y H YefHd fdbar|
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Sub questions

Question Number : 53 Question Id : 25498942220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS Thabier ! Tad 31fd UgdM 3% I & [y &5 & fog fopan ST anfew?
Options :

1. ¢ SITAT D T

2. % Qiferdy 3R daT® Hiold arRY

3. % DIgar

4. ® JHISC

Question Number : 54 Question Id : 25498942221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0




AP DI T T TIAT & P I5 ITehT THI g1 a1 T2
Options :

1. % 35 31U QMY DI YHIRIA B3 D1 A a1 ot

2. ¥ 3 Ald QRBR ol [Ha|

3. % BT B R EH Y Ugd 3! G B TS |

4. ¢ 3P JgUNTt 7 I8 SRTR BT o1l el (AT

Question Number : 55 Question Id : 25498942222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3fd § Thepford & wrf ot uga ford o & &1 1152
Options :
1. % 1945
2. ¥ 1962
3. % 1958
4. % 1942

Question Number : 56 Question Id : 25498942223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST R e & MY T B I Jiol §a?
Options :

1. % fhearnths IF

2. % TN fethawH A

3. ¢ SITAU B S gioiad IRl

4. % T foheaummt

Question Number : 57 Question Id : 25498942224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SHAR U &7 99 & o oIl T Iy Afgar Ao
Options :

1. % IGi- U GITd. S 25 a4 T 3y o g7 fopa|

2. % I SNITGSRY H U R o1 Ug i




3. % gg U URIN® Siiad H 5t T faRug e aums o+t |

4.+ 20 9f AT DT YSIHTT H T & U&UTd & S1d9IG Sai- Y faT 3R Ph.D & IUTF UIed 1 |

QUANTITATIVE APTITUDE
Section Id : 2549894637
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894678
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498942208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following question, two equations numbered I and II are given. You have to solve both the equations and give
answer accordingly.

I 3x2—22x+7=0
II. y*—20y+91=0

Options :
L% X2Y
2. ® L

; % Relationship between x and y cannot be established



4 v X5Y

Question Number : 58 Question Id : 25498942208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

few a1 ge &, g @A | SR I QU 91T &1 el FHAUT H gel R §U deaddR 3eck &

L3x°—22x+7=0

Ly?—20y+91=0
Options :
Lx XY

2. % X <Y
s X Ry & & gy T 761 fHar S wwar

4w X=Y

Question Number : 59 Question Id : 25498942209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What should come in place of the question mark (?) in the following question?

(833.25—384.45)+ 24 ="
Options :
1 #® L37

5 ® 20.1



3 % 2.0l

4 @ 187

Question Number : 59 Question Id : 25498942209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T 99 # 9o fEa () & T 9 FiT O 5 Heeh?
(833.25 — 384.45) + 24 = ?
Options :
| % 1.87
, % 20.1
3 x 2.01

4 v 187

Question Number : 60 Question Id : 25498942210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ratio of the present ages of Anubha and her mother is 1 ; 2. The ratio of their ages 6 years hence would be
11 :20. What was the ratio of their ages 9 years ago?

Options :

1. # 3319

I
o |



3 & 1:4

4. & 25

Question Number : 60 Question Id : 25498942210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTHT AT 3T AT N TIAT H FT HIS 10 2 8| 6 T A1E IhT H1Y FT 3G 11 1 20 gemi 9
IV TFeT 3T MY F AT FAT AT?

Options :
1. % 3:5
yow 217
3% 1:4
4. 2.5

Question Number : 61 Question Id : 25498942211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The second largest and the smallest angle of a triangle are in the ratio of 6 : 5. The difference between the second
largest angle and the smallest angle of the triangle is equal to 9°. What is the difference between the smallest and
the largest angles of the triangle?

Options :

. 36°

2 % 24°



3 % 12°

4 % 18°

Question Number : 61 Question Id : 25498942211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

v e % gy we 93 HR TEW o For #7396 : 5 ¥ e F guy wew a3 Ak
FEH BIC HI0T A 9° FT W gl e & Fa¥ oIe AR T8 93 107 7 = 377 g2

Options :
1« 36°

) w 24°
3 % 12°

4 % 18°

Question Number : 62 Question Id : 25498942212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a school some sweets were to be distributed among 420 children on the occasion of Teacher's day. But 140 children remained absent on the
particular day and hence each child got one sweets extra. How many sweets each child would have got originally?

Options :

1. # Cannot be determined
2.2

3.% 5

4. % 4

Question Number : 62 Question Id : 25498942212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

T W H AEUH 309 & aW W 420 T § 5 o180l fadikd &1 T3 ot Tig 39 7 140 T 3ufyd & 3R 3ufire vds s=
B T [HaTs 3ifafkead Ui g8 | e =) &) arad | [T fremsar o 832

Options :

1. % Fyifa 76 fPar ST 9o g

2.9

3.%5

4.% 4

Question Number : 63 Question Id : 25498942229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The circumferences of two circles are 132 metres and 176 metres respectively. What is the difference between the area of the larger circle and
that of the smaller circle?

Options :

1. % 1048 sqm
2. % 1076 sq m
3.9 1078 sqm
4. % 1090 sq m

Question Number : 63 Question Id : 25498942229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

& gl Bt URTY HERT: 132 HieR 3R 176 Hex 31 98 T & &A% 3R BIC g & &A%hd & d1d fobaT 3R 82
Options :

1. % 1048 sqm

2. % 1076 sqm

3.9 1078 sqm

4. % 1090 sq m

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549894638



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894679
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498942188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words will come third if all of them are arranged alphabetically as in a dictionary?
Options :

1. # Entry

2. % Efflorescent

3. ¥ Entreat

4. % Ensure

Question Number : 64 Question Id : 25498942188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR Ueg 48 T § 1 Afe T Wsal DI TH TG - & SUR JUITIhH H afedd foar oifd &, df aias I IR S A7 Xeq AT
Options :

1. #* Entry

2. % Efflorescent

3. % Entreat

4. % Ensure

Question Number : 65 Question Id : 25498942189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third term in the same way as the second term is related to the first term.



Pigeon : Peace :: White flag : ?

Options :

1. ¥ Truce

2. # Victory
3. % Progress
4. ® War

Question Number : 65 Question Id : 25498942189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ORI TR GIRT Teg U8 Ve I Y fId § ST UHR ol fadhed i Xeg 9 A& fd g 39 |
W:Qﬁﬁ::mg@:?

Options :

1. ¢ 29 (G&foRm |fe)
2. % faorg
3. % TEIfd

4. % gg

Question Number : 66 Question Id : 25498942202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following arrangement of letters, digits and symbols to answer the question given below:
1T9BQ=$25RJSGL3I@YMEG68*+DF4pH7©

Three of the following four are alike in a certain way based on the positions of the elements in the above arrangement
and hence from a group. Which one does not belong to the group?

Options :

1.% *+-8D6

2. ¥ YM@E3

3.% @Y3ML



4. BH47D

Question Number : 66 Question Id : 25498942202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fedr 0 9ea 1 3 & F T HaW, 3 AR g Fr ewfal@e e F amEs w8
19BQ=$25RJS6L3@YMEG68++DF4BH70

39UFT aEN H AR A ¥ A7 30 T & s v vs faftas a8F & 9A € 3R o wHg
fawr =t g Pefof@e & & sia @ @y & & e a8

Options :

1. % *+-8D6
2. YM@E3
3. @Y3ML
4. ¥ BH47D

Question Number : 67 Question Id : 25498942203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Find out which of the letter-series follows the given rule:
Number of letters skipped in between adjacent letters in the series decreases by one each time.

Options :

1. ¥ BHNSV
2. % IMTXB
3. # MSYBG
4. ¥ TZEIL

Question Number : 67 Question Id : 25498942203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt TTTY o DI WY S1&R-9aa fau T Fd &1 I1e &t 6 |

e B Fdead! sierl & o I 318 T 31&R] &1 a1 U IR U & g ol g |




Options :

1. ¥ BHNSV
2. % IMTXB
3. # MSYBG
4. ¥ TZEIL

Question Number : 68 Question Id : 25498942216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select the alternative which mentions the quality common to the three given words.

Nymph : Larva : Cub

Options :

1. # All are names of insects

2. % All are names of aquatic animals

3. % All are names of young ones of animals

4. % All are names of animals with four feet

Question Number : 68 Question Id : 25498942216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

. % g eIeFaHE

2. % it Sl Siqgan & T §

3. ¢ gt gaT SRl & A §

4. % gt IR ]} 91 THRT & 1 §

Question Number : 69 Question Id : 25498942217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A number of friends decided to go on a picnic and planned to spend X 96 on eatables. Four of them, however, did NOT turn up. As a
consequence, the remaining ones had to contribute X 4 each extra. The number of those who attended the picnic was:



Options :
1.8
2. % 12
3. % 16
4. % 24

Question Number : 69 Question Id : 25498942217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.4 8
2. % 12
3. % 16
4. % 24
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Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498942164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
‘MFN Clause’ is enforced by:
Options :

1. ¥ WTO

2. % IMF

3. % IBRD

4. % IDA

Question Number : 70 Question Id : 25498942164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

'MFN YR (Clause) fTd gRT @R] Pt STl 82
Options :

1. ¥ WTO

2. % IMF

3. % IBRD

4. % DA

Question Number : 71 Question Id : 25498942165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following books contains the text written by 'Patanjali'?

Options :

1. ¥ Yoga Sutra

2. # Panchatantra

3. % Brahma Sutra

4. % Ayurveda

Question Number : 71 Question Id : 25498942165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ QA



2. % Goad
3. % SR

4. % 3MIdq

Question Number : 72 Question Id : 25498942166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The reason behind the rigidity of the cell wall is the presence of:

Options :

1. #® cellulose

2. # lignin

3. ¥ both cellulose and lignin

4. % suberin

Question Number : 72 Question Id : 25498942166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. # Jogard

2. % faf=

3. ¢ g Toga 3R fafm

4. % oA

Question Number : 73 Question Id : 25498942187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Income estimates in India are prepared by:

Options :

1. #® Planning Commission

2. # Reserve Bank of India

3. ¥ Central Statistical Organisation

4. # Indian Statistical Institute



Question Number : 73 Question Id : 25498942187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YRA | I 31T BT A, 8o gRT AR o S g2
Options :

1. % OIS TR

2. % YR f¥oid 9

3. ¢ HEIT AIRSTH T TRIT

4. % YR iR T=AT

Question Number : 74 Question Id : 25498942201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following was NOT composed by Harshavardhana?

Options :

1. ¥ Harshacharita

2. # Ratnavali

3. # Priyadarshika

4. % Nagananda

Question Number : 74 Question Id : 25498942201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fofefaa & @ our gvaeH grRT frd A8t fovam mar U
Options :

1. ¢ gYaRad

2. % Idad!

3. % fOgefRie

4. % FqETHG

Question Number : 75 Question Id : 25498942231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is most volatile?

Options :



1. ¥ p — Nitrophenol
2. % m — Nitrophenol
3. ¥ o0 — Nitrophenol
4. % All of are equally volatile

Question Number : 75 Question Id : 25498942231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % B - AR

2. % TH - ARABHIA

3. ¢ 3ff - RSB A

4. % QU g ®UQ ARR §
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Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
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Section type : Typing Test
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Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894681
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498942241 Question Type : TYPING TEST

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,

socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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English Typing Test

Section Id : 2549894641

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498942240 Question Type : TYPING TEST

Many people are self conscious about their height and spend a lot of time wondering how to become taller. You would be surprised to
learn that your height is not entirely based on genetics. In fact, there are several environmental factors that have an influence on your
body. Listed below are some simple tips that can help you to reach your full height potential. Proper nutrition. A well balanced diet rich
in nutrients that is essential for calcium intake and vitamins will help your body improve and grow. Calcium helps your bones to grow
while Vitamin D strengthens bone and muscle growth. A healthy diet should be rich in vegetables, fruits, proteins and carbohydrates.
Milk and lean meats and vegetables and nuts should always be present on your dinner table. Try to maintain schedule for food intake.
Eat three times a day at the same time with small and healthy snacks in between. Walk outside on sunny days. You get enough amount of
Vitamin D from direct sunlight. But it is only useful if the ultraviolet B rate is not very low. You can learn about ultraviolet rays and their
current state from the weather forecasts. Your skin can not get ultraviolet B during the early mornings and late evenings or most of the
winter season. Exercising. Systemic exercise or sports are known to improve height. While it can not drastically increase your height, it
can surely help you to get an inch taller and to become a bit more flexible. Doing stretches can also have some beneficial effects. Exercises
that stretch your spine and enlarge your body are really effective when trying to add an inch or two to your height. Improve your
posture. Many people tend to curve over especially when sitting for long periods of time. Sleeping posture causes the spine to bend and
will cost you some inches in height over time. If you learn to maintain a correct and straight posture, you will see your overall structure
start to improve. Be more confident. Lift your confidence and you are sure to see your posture improve. Changing your mood can change
the picture you see in the mirror every day. Increasing confidence can influence your body and mind and it is quite simple and effective.
Get enough sleep. As crazy as it sounds, your bodies are always functioning even when you sleep. That is why it is no surprise to learn
that children grow the most while sleeping. It is essential that you sleep soundly for no less than eight hours every night if you want to see



results. Your sleeping posture also plays an important role in getting taller. For the best results, lay down on your back without a pillow.
Whether or not you are looking to become taller, maintaining these habits is incredibly healthy. When it comes to your height, there is
nothing to be ashamed of. Nothing is more important than how you project and take care of yourself. Try your best to be confident and
develop positive thinking.
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